Si Code: [ 2__1__0 | AL)
SECONDARY SCHOOL EXAMINATION - 2018 (ANNU

MATHEMATICS

ford
g g g A ET

g wwEit #) wom 78 ] g: 1
Total No. of Questions: 76 Total No. of Printed Page™"
(w3 W 15 AA4e) l*j."it:_::1 g; :
[Time: 3 Hrs. 15 Minutes] e BN
gienfilat @ o Ade-
Instructions for (he cianodate.
7 TNEdY otep 0T et et # i Tew -

Candiates o roaured £ give thel aMswers io their own words as lar as practcabie

22 i fT T A §Y AF ke SR gt &1

Fiqures w the nghl Ramd Marn iACaHe fult pnarks.

Seae dF peam il TG T oy ay 1qed VS
Wikl answonng the queskions, candidals Snoud adiuno (0 ihe word bt A5 far as praclicable.

€ v W4 T T e aed 730 15 JTe o SR il N &/

15 Mutes of exira tvne s been aklied tor the candwlales 10 read e questons carelully
e God-Gi 37 g HE wes - w (T aw - ¥ /

2

J

5
This queshon paper 1S anvded wia BA0 SECHONS = Secton - A mw%g ' |
4 ave . o A so awylan T d ot gt srrad B [GdF & K t 3 i ) .,73:;
= [FE

o a7 a7 OMR - M § 124 w2 g3 @) #7 A T T

#mu}qwaa?/mmu‘/ﬂ:wwan!?wmvﬁw#mmwt

sy qEr qiema a3 BT
in Section - A thero are 50 objective lype questions which aré gach carryng 1 mark.
Darken Ine crcle with bive black baw pen against the correct opben on O2R Sheet provoid lo you.
Do not use Whitener. Liquid BiadeNail on OMR Paper, otherwise the resull will be invalid.

7 &UF - ¥ F 22 H UG 9 & (ol ¥ By 2 Fo Bt 8) Fyad g 1l 15

pra} &7 10w v £
gTP MIVEL I GT A B Ferdm gra [t w2 & (wede # e 5 @w Pua &)

peddi g & By XESe (werm o ¥ 4T s e 1 T 8

In Section - B, o a.-eﬂm.nswwmmr{mmzmu out of which any
wed Apart fiom Ins there e 4 Long Answer Type questions (Each

15 questions e 10 D3 answe
Caerying § marks). Each quostion has an ziternate oplion
11 wEe &£ EANTRY ATFEE IT 38T eacH avir &)

of any eloctronc appkances 18 stnctly prohiited
i

i

[210;

by:BSEBResult.In



|vs -3 / SECTION-A

g1 / Objective T uest
O WA (g2 W) @ gdF [ gaffia Fwm & -

AA) ©F areafys, won (B) \& wfre F
(C) & it sicem (D) TF uftsa we
Every Point on a number line represents -

(A) a4 real number (B) anatural number
(©) arationsl number (1) un irrational number
2. Prafdfaa i 3 wra-m Ry zeweEs G e @2
1 91
A 5% ® 505
L . M 7 A 2% W
2! =51 x7?
Which of the following numbers has terminating decimal expansion?
(A L A
‘ 700 19 2100
343 .
(C) 51353,53 (D), Woneof these

3. A N pl-i T NgE, 200WE2d TRAE © mon ¢ TE § —
The least number, which is perfect square and is divisible by cach 16, 20, and 24 is-
AA)Y 290 (By 1600
(Cy 2400 (D) 3600

4. T Fwmn bl YR IS FIE NgwH JvadE T o1 qon §) Ay wErRdE
(LCM) oo sigem wsmvads (MCKF) 3 @G e00 2| 7% U= vien 280 & @ Fud Han
f -
The LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600, If
onc of the number is 280 then the other number is -

(A) 40 (B) RO
() 120 Dy 20
[21,0] ““lve Page 2 ot 16 o

by:BSEBResult.In



5. en 2343 @ f—; # &y ¥ () p.q i & qiu}mﬁrmmrwﬂ'*"

2343 can be expressed in the form of £ (p, q are integers. g #0)-
g

‘h} EE -t T
00 (B) 100
2343 2320

© = 2320
%9 (DY 559

6. R flx)=2x +6x-6F THF a.fp &, & -
If a.f are the zeros of £(x)=2x%+6x =6.then -

(A) a+B=cp B a+p>af
(€) arf<op (> a+p+rap=0
7. Yrw adewo qm x+2y=5 TN I 412y =10 F
(A) TFS B QM By wrd @ T e
(€) ¢ O AR T B (D) ¥ ANl TA e
The pair of linear cquations x +2y =§ i6d I+ I2y= 10 has-
(A) umiyue solution {13) no solution
(Cy  more than one solution (D) infinitcly many solution
8. mtlﬁﬂ'ﬂfh?gﬂd E 87
Which of the following is not a polynomial?
?
(A) i“' B 2-x%+VIx
() 2 o ¥
x-1
9. afr 0.3x=-037=037x-03, @ x TTHM R -
If 0.3x - 0.37 =0.37x ~ 0.3, then x has the value -
(A) -) (By -2
"(CJ +1 (D) +2
[210] Page 3 of 16 [Tum over
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10, 6"3’“‘"12“ 1 Hrem gaads 2-

The HC.F, of 6x‘yand 12xy -
(A) 6x’y By %
© 6}‘ (D) 633'

TR NTIX 4197y = 149 o 197x +173y =221, & (x,y) Em-
T3 4197y <149 and 197x +173y =221, then (x. y) will be

W a..2 (B) 2.1
6 :gr:.r-m (D) (2-1)
Z N I ax’ —dax + 22 +1=0 WWW?""‘“‘
If the quadratic equation ax® - dax + 2a + 1 =0 has repeated (equal) Foots, a = ...
(A) 0 B %
(2 (D) 4
I3. N TS Y 64 @ v & W 3 a7 ET -
The square root of 64 divided by the cube ot oF 61 -
(A) 64 By 2
© Y Dy (64)%
M. x*+)F @ e (x+ 1) & o mf -
(A) n U s yois &) (B) ﬁQiﬁ fawyy guis &)
(©) n T o it &) (D) n @ T qiE 2
(x+1) is a factor of (x" + 1), only if -
(A) nisa positive integer (B) nisanodd integer
(C) nis anegative integer (D) nisanecveninteger
15. \H]_nx\flg qeraR & -
J0x V1§ is equal to-
o(A) 5V6 By 65
(€) V30 D) V25
[21 0] Page 4 of 18
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16. TR V31an0=35in® a¥ sin?@—cos’0 TWAT & —
If 1”3!m8=3sin0 . then sin? 8 —cos® @ is equal to -

A 3 ®) =
3

1
© - '
9 3 © -

17. of¥ 75in* 043008’ 0 =4 ™ gech .+ cosecd TR & -
If 7sin? 0+ 3¢c0s?8 =4, then sec9+cosecd is cqualto -

2 2
(A) -2 W,
43 . (B) 7
2 1."3
[ o X
(<) 73 ((»)] B
Ssin®-3cosH
18. ufR Scotf6=) ma pip g P W k-
Ssin0-3¢c0s0 |
i Scot@=3, then N il is 1to
1 ) 16
(A) - (B) >
14 1
(C) 2—7 (13) 2
19. of sinx°=sina Ta a & -
If sinx®=sina, then o is -
180 i
* (A) = (B) =%
X
(C) EEE (D) 180
20. tan1$°-1an20°-tan 70°-tan75° w1 A1 M-
The value of tan 15°- tan 20° tan 70° - tan75° -
(A) -1 (B) 2
©€) 0 (D) |
[210] Page 5ol 18 [Turn over
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- 41 ven 50 MR UE
1o UR ea vy a1 gom 4508 TR O° g 2, v T

AN &) e o) k- { xbow of 4
I¥ the inclination Mﬂr:u:tr:ny increase from 45° 0 o, the length of ¢

lower decrease by 50m. Height of the tower (in m) is-

A 75'[3-\:"3) B 35(.14-‘5)

© 10003 +1) o suy3-1)
< o S g, e R O WS @ @ o IR IUA a*dlé_{a'?ﬂll#) AR 8

U heighl is .

(A) & b
2 (B) 3

) X n

23. U 6 Mex S e A gt e orm 2D ARex el i ALY I &
A 6m height pole’s shadow on the carth is 243 m long. tienthe Sun's clevation is -

(€ 30° (D), 15° &
24, T 6 froe S gn @ s ey R §) s W o @ A o 50 AT 2

™ & Surd (e W) & -
A free of 6m height casts a 4m Jong shadow, At the sume time a flag post casis a

shadow 50 m long. The height of the post (in m.) is -

(A) 40 By 25
(C) 15 D)y 10
25, a% R AR Jurd h, ®A hy; F O T AEach @ B - W BRI g @

AR A P BT AR FE 60° Fon 30° & a E'-a.zmm_
|

If two towers of height h; and h; subtend angle 60°%and 30° at the midpoint of linc

h
joining their bases ol lowers, then h-—: .is'
' (A) 3:1 | 1:2
© 3 (D) V2:1
[210] . Page 6.of 18
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26. WS R AT x =) w1 y-.4 A Profa A wwh T~
(A) UB—TAY & gy &
(B) V-7 & wararae &
AC) T W F-gHY By & 7 Faaq R
(D) = Furd 98 am o)
The lines x = ~land y= .4 are-
(A) perpendicular w each other
(B) parallel to cach other
(C) neither purallel nor perpendicular to each other
(D) Nothing can be said
27. Rrw Prgwt @ A0 At @ Par (0, 4), (0, 0) Ao (3, O) &, TR SRAR E-

(A) 8¥=d B 10 a7
_(C) 1w (D 1§ g7
The perimeter of a triangle with verices (0. 4), (0. 0y and (3, Mis-
(A) 8 Unit (B) 10 Unit
(C) 12Unit (D) 15 Unit

28. Prama (2. K-3) @ (4,-7) F e ach @0 =1 ogoe 3 & Ok A -

The slope of the line joining the points (2, K-3) and G <7yis 3. The value of K will
be

(A -10 (B) -6
(C) -2 (Dy 10

29. WA @M x =-2 81 y = 3 & FeH g -
The lines X =-2and y = 3 intersects at pointy-

A (2.3) (B) 2.-3
) G,-2) D) 3.2
30. WY Y@ 5x -3y +10 =0 A s B W T B = AAFA -
y(A) !; By § a8y
(€) 8 Y (Dy |5 ¥
The area of the triangle formed by line 5x -3y +10 =0 with co-ordinute axis will be-
(A) -I-;—cm’ (B) Sem’
(€) 8m’ | (D) 15cm?
[210] Page 7 of 16 [Turn over '
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' «n which
In the ﬁgnrc if ﬂ!]:CD‘ CE = AE. ZBAD = ZCAD: f_’EBC:.{EBA then

of the following watement is true?

A
L.
B D =
(A) AB =BC =AC «{(B) AB=BC
(C) AB= AC (D) BC# AC

ki > :
2 R e fra w pgge, AP=23r0 PB =6 pQ=3 @ @ BC (00 3) =
" the figure PQ I BC. AP = 2cm, PB = 6cm, PX = 3 cm then BC (in cmle

(A) § (B) 9
) 10 i 12
33. AABC @ Apgre AR R QEl T SAEE I 9 ot 16 ut ¥ & AR EF =42
W A BC (W ) =
AABC "VADEF _ Area of AABC and ADEFare 9 and 16 sq. ¢m respectively. If
EF=42cmthen  BC(incm)=
(A) 4.2 .(B) 3.5
(C) 4.7 (D) 5.15
34, w‘errﬁi'muﬁdﬁm(ﬁﬂfﬂﬂmﬂ)ﬁKﬁ‘éﬁ;mme.iﬁkmmg_
To determine a straight line, atleast K points are required, Then K is equal 10-

(A 4 By 3
i
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3. RU MR 3 DEYRC, Ap = 29 DB =3 A A AE=1630. T EC(A % ©

In the figure. DE I BC, AD =2cm, DB =3 cmand AE =1.6cm thet EC (in e
A
D E
K ’ C .(B) 24
) 2.3 ' (Dy 4.8
36. m’tEJHMWﬁﬂﬂgm{*mﬂ?ﬁ#ﬂﬂ?mwm'
At 3:24 pm, how many degrees has the hou hand of a clock moved from its position
at noon?
(A) 135° (B) 134°
(Cy 133 (Dy 132°
37. Frsht Bt @ @9 @ (@) @ Prene fag @ ow ST 8-
(A) F. a= (B) g1 3K
(C) My B AD) TR
The point of concurrency of thigetititudes of'a inangle is called its-
(A)Y incentre (B) circum-centre

(C')  centroid (D) ortho centre
38, s 2 ga ':cb-{mmwmﬂq:&s.rﬂﬁﬁqnﬁwmvﬁmmﬁwﬁmaﬁ

wwn -
IT tweo circles touch each other externally. then the number of common tangent (o the

circle is-

GV (B) 2
(C) 3 (D) 4

39. mascmmuﬁmmwaﬁmc.ﬁmm ,,,,,,,,,,,,, @ R

(A) fawaam agqa (B wd

. (C) T (D) TR WP
If PQRS is u parallelogram Inscribed in a circle then it Is not a-
(A} rhombus (B) square
(C) rectangle (D) wapezium

Page 90! 16 (Turn over
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40.

&“thﬁpoagwmgwgmoiwmkqaﬂfimuﬂmﬁm
ZRPS =

In the given figuie, PQRS is a cyclic quadrilateral inscribed in a circle with center O,
then £RPS =

(Ay 30 (B) 05°
) 70° D) §o°
41, Ro -
O 0% B 3 amim gn v 20 M. G i 4 B T g AaE T g
SENTYIR A9 ¢ -
The rap
foe Talle of the tetal surface area 1o the Lutcral surface arca of a cylinder with base
Tadius 80 cm ang height 20cm is -
(A) L:2 (B) 2:1
(C) 3:) tDy §:1
12, : Mapiegy
AT W Y b S g ProEr B S 3d e S $g ] R
2:3, AT 3= T S
:l'h-: fadii of the base of ag¥hider and & cone are in the ratio 3 : 4 and their heights arc
0 the rutio 2 ; 3, then their ratio of volumes is -
AA) 9:8 (B) v:4
€ 3:1 (D} 27:64
43. U@ uA 7 aimes 214y F &1 W P AFa (A4) A Qm—
The volume of a cube is 2744 em', Its surfice area (incm®) ix -
(A) 196 (B) 58%
(C) 784 I 1176
A4 wadNFmd MR T o A AN Nen 2 W 21 13 =/ Al A -
How many balls, cach of radius 1em can be made from a solid sphere of lead of
radius 8 cm?
(A) 256 * (B) 512
(C) 1024 () 57
[21 Q] Page 10 0! 16

by:BSEBResult.In



' 5 8
qAd Ny a"ﬂ _ﬂtﬂ Neq apg TN 3 ol aem x Al 21 78 mAreR T
A hollgy Spher, of < 1 g AN ) 31w S (il ) & - | "
IMIIL‘I.I in l“ﬂc of‘l'.::e il and i“l.fnlﬂl di:ll'll.‘tﬂ\ g2m ﬂﬂd Jem nswc“\'fly 3
:21 12 ve "“"““&‘m.Thc et Bput eomss s
(C) 14
(B) 13
J6. "R 10 uy I “ﬁmﬁ - M 15
h;ean of firgy 10 even ny lnwn-:ci_
(A) 1] Umbsery i« .
51 (B) 100
7. AW W@y 3 -

. M 1
B 1 Y ; (
(A) 3 e g

afry -
(C) ﬂ‘ﬁ (a) g {b)

(B) M
The class - ingery ADY T & S R

al
(B) overlapping
(C) btk {0 & (by (D) None ofghiese
48. WA (x), Wt (y) s IEAF (D F i 5

e -
Mean (x), Mediun (y) yng Mode 12) are rekued s
A x-y=32.y)

AB) x-z=2Mx-~y)
“:l x-)r=z_)

(D) HUx-oy=n-y
49. & U D B gy SHIFT W, 58 - ) - gy Th TS we o) wirea @ -
In a simultancous throw of 1wo coins, the probabilit y ol getting at least one head is -+
(A)

(B)
(C)

Wi |-

(D)
50. W@ Ad 3§ 6 T oo 8 o itz 2| 9 v
$ FUlT € F) wiivga @ em &7

A bag contains 6 black and 8B white balls, One ball is deawn at random. What is
probability of getting a white ball?

Lllw u|-

e IeelTE Y A Rala Ty g9 N

4
By 2
(A) _—::- B 3
| o 3
©
| Page 11 ot 16 [Yurm over
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W

avg -3/ SEC ON-B -
MMMJMWJM -
: 4 o
mm#u@rmmﬂmwww

xs sm=20 3m) a1 were I e &1 , (15xamarks = 30marks) and

hw‘mmnmhmwlﬂﬂf”‘“’w““

4long answer type questions (4x § marks = 20 marks T&'ﬂ 15 77 @ TV 2/

mmr#ﬂwwmﬂmﬂrﬁ# —-—
0. No. - 1 10 22 are Short Answer Type questions. Answars gny. 15 1o e
Eﬁﬁxmwﬁmwm%mmﬂzmwml l
Use Euclid’s division algorithm to find H.CF. of 960 and 432,

ﬁmmﬂﬁ&!ﬂlﬁﬁrqﬁhm% ep— Bl R
>
Ehus

Without actually performing the long division. State whether rational number

& terminating decimal expansion or non-terminating decimal gxpunsion.
af2 aguz p(x)=x‘+x+1 T EAF o au LAl o) + 3wt aE T Lo g
If & und B are zeros of polynomial p(v)= x™ % x + 1, then find o +P°.

& IrftEr gy fag o Rl Bra-
5 8 ok 7 47 99w T TS0 2, W=y 7 M e 5 2 @) EA P 46 2

Form a pair of linear equation for the problem -
S pencil and 7 pens together cost 50 T, where as 7 pencils and 3 pen together cost

46 .
frg &% 5 5 o omfdia s 8

Prove /S is an irrational number.

7gez M(x)=x"-pxl+qx-r 3 23 el »1 s 0 ¥ BN W B e W
(vgae & ot @ @)

Find the condition which must be satisfied by co-cfficient of polvnomials. such that

the sum of two zeros of the polynomial (x)=x"-px® +qx ~r. is zero,

[210]
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/7. 4 et e 3 uw A A 3 200 &, waf S TS
&M T ) A g Ty
The cost of 4 chairs und 3 ables is T 2100, Where as »
T 1750. Find cost of 3 ¢hair and a table.
8, Al 3R 13.18.23 . 37 3y yg I8 27
Which term of the serics 3, 8, 13, [8.23....c.eeee 15 787
9. R mRAY 2P 3 &

hat of 5 chairs and =

In the given figure. Find <P

A
18%3%’\

9
B -

10. af? AABC awt ADEIF @& 8, @l AB
ADEF & &0d %1 yqud id 37
If AABC and ADEF are similur, seth it AR =
of arcas of AARC and ADEF,
11. U® ga @ Frwm 43 0 SR sud vl {6
& g A Fa )
The radius of a circle is 13cm and length of onc
distance of chord from the centet.
afy 2 mraedl (<) uﬂzﬁ'faﬁ;wqa?ﬁmuﬁwmg%ﬁmmﬂﬁﬁﬁi
ofrar w9 &)
If two chords of a circle are
intersection. prove that chords are cqual.

Q 12¢m
= 1.2 ¥, 3t DEg 14 ¥ | AABC af

P2¢m and DE = 1.4cm. find the ratio

£ Tag 1uﬂﬁt|:ﬂmaﬁgﬂﬁ

of its chords is 10cm. Find the

cqually inclined to the diameter through their point of

13, af2 mh%. Al sinA.cosA TRT R

& . _
If tanA =2, find sinA.cosA

[21 0] Pago 130f 16 ITiwn o
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4. ¥ _2p

LY .

10+ cost = p e sech+ cosecB =l g M p” ~1= q—
If sing ,

* €00 = p und sccB + cosech = 4. then prove thatp” — 1 = 2p

q

15, afe A
* LI ‘ -
MMA+B) = 5inA cosB 4 cosA sinl @t sin 78° ®3 P )

I sin(A = i
- ’}R&" +B) = ginA CONB + cosA sinB lind sin 75° '

e 1) @0 (67 3 i g s )

n 4
. “; ;?'dmanuc between (-1, 3) and (-5, 7). |
] U iy & ke i f;};-q {2‘ -3) ar (10, y) & A= o) {ﬂ 10 ﬂ:!’g il

< Find value of ¥ such that the Ji hetw ' . i
e sty . ¢ I.\lnntﬂ' tween points (2. -3) and (10), y) is 10 vmts.

el 8) 3 ~E @ &) A Par T YErg @ wafrs w frae ma @R
" wﬂ: ;u-mﬂtn:ntcs of midpoint of line. having its extreme ends al (6, 8) and (2. 4.

o W wfond) s aem (o) @01 Ry al¥)
- INC Mo 1ypes of Statistical Data,
=0 :H !lil'r (G"s -aNW) ¢ @) wig (o) wr
5 - 1‘-”{““‘" twao characteristios (features) of Bar diggram,
=te SRMNT Ked Yo Bria a0 TR )
Explain “impossible [y ent ™ Sefe Event® in brief.
ﬂd‘rr A & TRy P & et ang = fan
/ Give formula for feprescitiig the happening of an cvent A,
vt AE&M 23 & 26 A &M T wrr 1 g wrT ¥ SmaRE Reey a1 g &)
Q.:‘\:a.).] to 26 are long answer type guestions, Each question has an internal
oplion.
Uk .'2'.1I'q45 froa ?;:@'[ M b TEE TR @ an el &) afs 3 & 7y v B /e
A g A WM T 5N P wEa A 2 ver e g8 A ol a7 ald g9 @ af 1o R
; /fiﬂdl a4 ;.;.n df 5 T8 B A 3 ve afe A g B a2 an A uL

i UL B

A train covered @ certain distance at a mniform speed. If the train would have been
10km/hr faster, it would have taken 2 hiowrs less than the scheduled tme, but if the
train werc slower by 10km/hr. it would have taken 3hours more than scheduled time
Find the distance covered by the train. .

2
R

‘21&1 - P_ageHaHB
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24.

) Ny - Huqr_/ OR

")

(i) iy Udhoy Tquations px + (y=p - andqx-p,r:p-t-qfunandy-
B o a: IT by x -2 by 2 (540 2b+ 1) W Ix -y = 14 @ Sl €S
A 3T b F wra Praify.

Find values of o i @

numbe ' _ and b for which the system of lingar equations has infinite
rnl'snlulmn (a+ b]&_zby={53+ 2b+ 1)and 3x - y= 14

R nd frx A DE 1 B en BD 5 4 aDER)

—— @
DA 3 !\".(.'SBFC] o !

In the given figure:

DEIBCand B0 _5 4., . ar(ADER
e B anABFC)

Jmar7 OR

AABC @1 ara: ga aalsi BE. CA a1 AB 71 % DE, #on F @@ wrel a0 8 firg
Ffm 6

AF+BD+CE=AFE+CD+BFF =

I
2
The in-circle of a triangle ABC touches the sides BRC, CA and AB &t D, E and F
respectively.,

Prove that:

AF+ BD + CE=AE+CD + BF = %il’crimdcrni'MBCI

frg o -
Prove that -
() Sin A(l +1an A)+cos A (I+cot A)=scc A +cosec A )

. osin0-cosB+l 1 (3)
(D) o cosB-1 secO—land

( AABRC a1 ufdsrm)

[210] Rz A from ghié -
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2 I _/ OR
4]
$Wm“mmaﬁ!{ﬂ“ﬁwmnmmﬂwm°ﬁm?'

m -
m:‘:ﬁﬁ“"*ﬂmmﬁgum ot T am a0® @ T &) A B I
|

:::::“::"’:“B ﬂn the bank tf:l' a ri\-cr.. obscrves that the angle of elevalion of the
juss « Standing on oppusite bunk is 60°. When he morves 40m away from the
26. ;;l};ﬁ::: "h"-' angle of elevation 10 be 30°, Find (he Widih of the river.
£1 7 g ;:;f*j:; o Jemd m eﬂ AR £ e Fue T.:{Ffi T WENIR
My @ oW WE B M o Sard il G 16 e & @Y
SH Foram *ﬁ-ﬂm'nieﬂmﬁl
:ﬂic canvass of a circus has height 11dm (decinietre) in cylindrical section ind above
. there ix  conical shape. The aximum height of canvass s 16 decimetre and the
diameter of canvass is 24 decimetre. Evaluate the towlGredoPihe canvass.
doEL £ OR
26. TF W (43) 0 rom g Sl MeTa 43 2 JMER SR T sl 154 4@ 2
T T Bl AU T B9
The radius and height of a cone are in the ratio 4:3. The area of base is 154 e Find
the area of curved surface.

fgr i A Tafda zaft oraresrd,
T A, 1851 U7, , Esfde
&8, e erst &1d, udten fafei,
sfde1ils sraRae A& sanfe Jad
UEs UTat & f3T...
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